St
—-5X
3

—

3
R

1
4] x2+§x—4—|—A =
L9

L=1
[€)

1

—X+5
+6x—|—

5
_6x+5

3
_§x2
_5x2

@
@

5
_6x+5
-5

5
3
6

1)—(x2+%x—4)

1

—5§X+
_6x+5

)C2

+6x—5
- —x

x2

_]
x2
X2

b
2

5

%

2
5
3
5

R

@)
®
®

:rL

3
5
55




2. 3x(6x-4y)E 74| 5HH?

O -18x% — 12xy @ -9x% - Txy @18x2 —12xy

@ 18x% + 12x ® 18x% + 12y

3x X 6x + 3x x (—4y) = 18x% — 12xy




©)
6a> L
i




(3x%y — xy?) + xy

x o A3
yAs -1
L3+ (-1)=2

_ 3y -n?

_3xy »?




5. x=2,y=-3% 1, 2x+5y-(3y-3x) & AtstH?

® -8 @ -4 @1 @ 2 ®)4




& % 057k 2 A DAL AL

® 2x+1=3 @ xy+9=12

@)x% +2x+3y =10+ x2 @ x* =5x

O

® 2x2+3y=x>4+7

B

@ B4} 1 A 97
@ x, y ofl Tt o] xpg R Aoleh,
CEEE PR L
@ x of e o]7p2
© x of T ol A A




7. WAy, y 7 AASD W, BFAHA 3x+y =15 9 F9 AFE
732
® 378 @)4 7h ® 57K
@ 67 ©® maal Bt
3x +y = 15 St AdAS x y 9 ;2

S i
=
O

(1, 12), (2, 9), (3,




Bx+y= _
Aega T T o v = 11 Q) 4 o) S Fotola
o5x+2y=3
> =
> ®e: 1

3x+y:a®

5x+2y:3...®
@A x=-1=HAYSHH, 5+2y=3..y=4
o] A& ThAl @ Aol thdstH a =3 x (-1) +4 =1




=0.142857, 96 +6 =16---0

1
7
447 obe) 96 A Ake] S 7ol




10. x=2.6666--- 4 o, 10x — x 2] Ft2?

D 0.26 @ 2.6 ® 24 @24

® 26.66

102 F5HH 10x = 26.6666 - - -
x = 2.6666--- 0] B2
10x — x = 24 0]t}




Feizt.

S

jo

T

o

dx* + 2 2 2x 2 7H

11.

2x

-

ull

=2x % = 2x

4x* = x2 = 2x




12. 32=A4, 22 =Bt & o], 1832 A, BE o|-&5}o] e H?

@® AB? @)A%B ® A%B3 @ A%B ® A3B?

183 = (2% 32)3 = 28 x (32)3 = Bx A3 = A3Bo|t}.




13. o FolA [ |t Eold gghe Ao] e A

Ae B5 et (A9 27M)

@ 6x2 x| | = 2443 © (2x)2x[ |=8x3

@16x9+D:4x8 @2x9+x7+D:x
® 3,0 @0, © ®©,©
@o, e ® © @

~&B

@l:’:24x3+6x2=4x
@|:|=8x3+(2x)2 =8x3 +4x% = 2x

16x°
— 8 _ _
© l:’ 16x” + 4x 4x8 = dx

@2x9+x7+D:x°]E§2x2+\:|:x
D:2x2;x:2x

wpaba], [ ] gkl Alo] 22 AL @t @, O @olth




14. thg S4L BESH x| g Potolet,

4x—1 X 8x—1 — 16x+1

4x—1 % 8x—1 — 16x+1
22x—2 X 23x—3 — 24x+4
2x—2+4+3x—-3=4x+14
x=9




15.

1 5
® 2x + 15y @) 6x+1y

5 1
@ x4+ 4y ® Zx—ay

5
@ 6x+5y

~&B

2x+y x-3y

4 3
_ 3(2x+y) —4(x-3y)
= 12
_ 6x+3y—4x+ 12y

12
L
T T 12 Tt r




16. HEFW oA T A- y =2x-1, y = ax - 49 nH| #H7}
(-3, b) 4 o, at b o] F& Fsteiet,

> E:
> =g -7

B

y=2x—19°] (-3, b)E HYUsIH
L b=2x(-3)-1=-T7
y=ax—4° (-3, -7)= th4stH
—T=ax(-3)-4 Soa=
Soab= -7




sagygy T el
x_ay:4 —x+y:5
o, a-b 2] 327
@ -7 ® -8 @ -9

9] 7t M= ZE

® -10

2x+3y=5
4y = 10
Ly=3,x=-2
x o gty o FE
x—ay=4
bx+4y=4
ol HPshd a = -2, b =47} h2ch,







19. 62571 = 52" x 1256 + 253 2 WHEoh= H4 x o] g2 Fotoft

625 = 252 = (52)2 = 5%, 125 =53 o|B2

Folxl A& ol 591 AFAFES] F=H = HHite] 1
6251 = 52% x 1256 + 253

(54)x—1 — 52x % (53)6 X (52)—3

Fdx—4 _ 52x ¢ 518 o 56

Fdx—4 _ p2x+12

Hol 5 2 gong ol 257} g,

dx -4 =2x+ 12
Lx=8




20. IAPTAHA 2x—ay =10 o] ZHZIL = H (-1, 4), (b, b) E

o, ab ] 27

@5 o5 o4 @3 oo

A]

B

(-1, 4) € 2x—ay =10 °f tHJsH
2-4a=10. a=-3
(b, b) = 2x+ 3y = 10 ol Y5t
2b+3b=10. b=2




21.

0.4x 4+ 0.5y = 1.1

AHTHA (o < EH?
—(2x+y)=2
7
@ (-4, -1) @ (-4, 1) ® (-1, 3)
@(4, -1) ® (4, 1)
0.4x4+05y=11 ---@
;(2x+y)=2 @
Ox10, @x7 54,
4x+5y=11---®
4x+2y=14---@

®-@ s,
x=4, y=-1°|t}.




a7t glodd xy o A= A
o}

2x—y = 3,kx+y = 5°|4

k = —2¢{of 3lt,




23. x7h1<x <209 Ad5d ), Lo] gRass} HER S BE &

of grol g7

=

@ 60 @ 62 @65 @ 68 ® 70

1 _
x742, 4, 5,8, 10, 16, 204 o, — o] fotagrh A




©9

o a7t F A2 AA5D 0, b 3

5

=5

@ a=54,b=4 @azﬁ?),b

® a=81,b=7

®a=45,b=3

@ a=72,b=6

oy

oA

AL

0

<

o

A s

= |

mﬂ (S
o o
Jp©
S Il
_.5 r~
o X
o Il

i

M

ot ol

e 0
75 71__|b

S|X N
o~ .A_l
™ o

or




25.

0.158 = ax0.001, 0.05=5xb < o, ab

= B\axA
= T

= UEhfofet.

» =
143
158 -15 _ L, = 143
5900 900,
— =5xb , b= —
9°ab_143 %0
U090




